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1
Dealer N
None Vul

♠ A1083
♥ Q876
♦ J10
♣ 742

♠ 94
♥ J10932
♦ A95
♣ Q85

♠ KQJ6
♥ 54
♦ K73
♣ AK109

♠ 752
♥ AK
♦ Q8642
♣ J63

7
7 16

10

2
Dealer E
N-S Vul

♠ AQ103
♥ J1087
♦ K832
♣ 9

♠ J5
♥ 54
♦ Q754
♣ QJ1052

♠ 8764
♥ 96
♦ A1096
♣ A86

♠ K92
♥ AKQ32
♦ J
♣ K743

10
6 8

16

3
Dealer S
E-W Vul

♠ 10932
♥ KQ2
♦ QJ743
♣ 8

♠ AKJ75
♥ 86
♦ 102
♣ AKQ10

♠ Q6
♥ J1053
♦ A95
♣ 9765

♠ 84
♥ A974
♦ K86
♣ J432

8
17 7

8

4
Dealer W
Both Vul

♠ K753
♥ AKJ62
♦ K7
♣ A10

♠ AJ106
♥ Q754
♦ 1053
♣ 98

♠ 842
♥ 98
♦ 64
♣ KQJ543

♠ Q9
♥ 103
♦ AQJ982
♣ 762

18
7 6

9

5
Dealer N
N-S Vul

♠ AQ87
♥ 9
♦ KQ1052
♣ K83

♠ KJ
♥ 8752
♦ J76
♣ AQ76

♠ 109642
♥ Q106
♦ 98
♣ J109

♠ 53
♥ AKJ43
♦ A43
♣ 542

14
11 3

12

6
Dealer E
E-W Vul

♠ 10984
♥ Q2
♦ 10875
♣ 1062

♠ A7
♥ K843
♦ AKJ
♣ QJ53

♠ J632
♥ AJ75
♦ Q6
♣ AK4

♠ KQ5
♥ 1096
♦ 9432
♣ 987

2
18 15

5

7
Dealer S
Both Vul

♠ 652
♥ J1097
♦ Q962
♣ J4

♠ J983
♥ K862
♦ 104
♣ 863

♠ Q107
♥ A3
♦ A853
♣ KQ92

♠ AK4
♥ Q54
♦ KJ7
♣ A1075

4
4 15

17

8
Dealer W
None Vul

♠ 10
♥ J107643
♦ 54
♣ J1043

♠ AQJ42
♥ 85
♦ KJ8
♣ 762

♠ 753
♥ KQ2
♦ 93
♣ AKQ98

♠ K986
♥ A9
♦ AQ10762
♣ 5

2
11 14

13

9
Dealer N
E-W Vul

♠ A876
♥ 10962
♦ 10
♣ J932

♠ KQ
♥ AQ75
♦ K962
♣ K54

♠ 2
♥ 43
♦ AQJ754
♣ AQ108

♠ J109543
♥ KJ8
♦ 83
♣ 76

5
17 13

5

10
Dealer E
Both Vul

♠ 5
♥ Q73
♦ J654
♣ KQ543

♠ KJ96
♥ 96
♦ AK83
♣ A62

♠ 1087432
♥ 4
♦ 72
♣ J1098

♠ AQ
♥ AKJ10852
♦ Q109
♣ 7

8
15 1

16

11
Dealer S
None Vul

♠ AKJ9
♥ AK105
♦ 1063
♣ A8

♠ Q10432
♥ Q92
♦ QJ4
♣ J3

♠ 76
♥ J876
♦ 2
♣ K109754

♠ 85
♥ 43
♦ AK9875
♣ Q62

19
8 4

9

12
Dealer W
N-S Vul

♠ 97
♥ 854
♦ J1086
♣ AK96

♠ AQJ42
♥ AKJ62
♦ 4
♣ 42

♠ 1053
♥ 97
♦ KQ532
♣ QJ7

♠ K86
♥ Q103
♦ A97
♣ 10853

8
15 8

9

North South West East
Mean HCP 8.75 10.75 11.33 9.17

Balanced Hands 5 6 9 8
Voids 0 0 0 0

Singletons 6 3 1 3
Long Suits (>6) 0 1 0 0



% PBN 2.1

% EXPORT

%Content-type: text/x-pbn; charset=ISO-8859-1

%Creator: BridgeComposer Version 5.109

%Created: Mon Jan 13 15:51:04 2025 +0000

%BCOptions Center GutterH GutterV STBorder STShade

%BidAndCardSpacing Thin

%BoardsPerPage 18

%CardTableColors #008000,#ffffff,#aaaaaa

%DDAFormat 0

%DefaultPagination 0

%Font:CardTable "Arial",11,400,0

%Font:Commentary "Times New Roman",12,400,0

%Font:Diagram "Times New Roman",12,400,0

%Font:Event "Times New Roman",12,400,0

%Font:FixedPitch "Courier New",10,400,0

%Font:HandRecord "Arial",11,400,0

%GutterSize 500,500

%HRTitleDate 0

%HRTitleEvent "Lesson 9 - The Bidding Box"

%HRTitleSetID ""

%HRTitleSetIDPrefix ""

%HRTitleSite ""

%HtmlClubs entity,"https://bridgecomposer.com/suitimg/c.gif"

%HtmlDiamonds entity,"https://bridgecomposer.com/suitimg/d.gif"

%HtmlHearts entity,"https://bridgecomposer.com/suitimg/h.gif"

%HtmlNavBar 0.75,#cfe2f3

%HtmlSpades entity,"https://bridgecomposer.com/suitimg/s.gif"

%Margins 250,250,250,250

%PaperSize 1,2159,2794,2

%ParaIndent 0

%PipColors #000000,#ff0000,#ff0000,#000000

%PipFont "Symbol","Symbol",2,0xAA,0xA9,0xA8,0xA7

%ScoreTableColors #e6e6e6,#000000

%SectionSpacing 0,0,0

%SelectedBoard 11

%ShowBoardLabels 2

%ShowCardTable 2

%TSTCustomSortOrder Default

%TSTReport List

%TSTReportOrder ByNumber

%TSTReportShade Yes

%Translate "% Deals" "Dealer %"

[Event "Lesson 9 - The Bidding Box"]

[Site ""]

[Date ""]

[Board "1"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "None"]

[Deal "N:AT83.Q876.JT.742 KQJ6.54.K73.AKT9 752.AK.Q8642.J63 94.JT932.A95.Q85"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



With 23 honor points in total, the stairs show that one should bid on the 2nd

step. Since East-West cannot find a suit with at least 8 cards in total, it is

best to play grand.



East intervenes in the bid box and takes up 2NT.



South leads 2 diamonds, invited. East-West puts pressure on declarer by

attacking declarer's weakest point. An effective method of stopping such an

attack is to forgo and trick the first round of diamond play, hoping that the

opponent we have to let in later in the game will be played out of diamonds.



If East plays his spade, there will be at least 8 tricks if one plays the club

from the top and sees that the club jack falls so that the 10 stands.}

[BCFlags "1f"]

[Auction "N"]

7 16 11 6



[Event "#"]

[Site ""]

[Date ""]

[Board "2"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "NS"]

[Deal "E:8764.96.AT96.A86 K92.AKQ32.J.K743 J5.54.Q754.QJT52 AQT3.JT87.K832.9"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South have 26 honor points in total, and will announce the 3-step. South

becomes the declarant.



South chooses hearts as trump. The contract becomes 3\H.



If South counts the trump correctly ("I have 5+4= 9 trump cards in total. The

opponent then has 13-9 = 4. When I play one round of trump, they have 4-2 = 2

trump cards left) and stops the trump game when the opponent runs out of trump

cards, then all the trump cards are used, so that there are usually 11 tricks

in the contract.}

[BCFlags "1f"]

[Auction "E"]

8 16 6 10



[Event "#"]

[Site ""]

[Date ""]

[Board "3"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "EW"]

[Deal "S:84.A974.K86.J432 AKJ75.86.T2.AKQT T932.KQ2.QJ743.8 Q6.JT53.A95.9765"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West has 25 honor points in total and will win a contract on the 3rd step.



East-West has 8 clubs in total, and chooses to play the contract 3\C. (Yes, we

know that 3NT gives a higher score, but that is a topic for the next lesson

;-))



Be careful that declarer counts the trump correctly before starting (I have

4+4=8 trumps, the opponent then has 13-8 = 5 trumps.) When declarer plays the

second trump round, it is important to notice that North does not follow suit.

How many trumps does South have left? Is it possible to avoid South getting a

trick for \CJ? How?



In this game, a situation arises that you can practice with the dart deck for

playing technique: The possibility of taking a marked finesse. A marked finesse

is a finesse that you know for sure will work. Here, declarer can play into the

table (via the queen of spades or the ace of diamonds), and play a club from

the table. South is trapped. If South plays a low card, declarer can certainly

go down to the 10 and win the trick.



 }

[BCFlags "1f"]

[Auction "S"]

8 17 7 8



[Event "#"]

[Site ""]

[Date ""]

[Board "4"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "All"]

[Deal "W:AJT6.Q754.T53.98 K753.AKJ62.K7.AT 842.98.64.KQJ543 Q9.T3.AQJ982.762"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South have 27 honor points combined and the stairs show that they should

bid a contract on the 4th step.



North finds out that they have an 8-card diamond match. The contract is played

4\D by North. (Yes, we know that it doesn't give a starting bonus. That's the

topic of the next lesson.)



East leads out \CK, the top of the sequence.}

[BCFlags "1f"]

[Auction "W"]

7 18 6 9



[Event "#"]

[Site ""]

[Date ""]

[Board "5"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "NS"]

[Deal "N:AQ87.9.KQT52.K83 T9642.QT6.98.JT9 53.AKJ43.A43.542 KJ.8752.J76.AQ76"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South have 26 honor points together and the stairs show that they should

bid on the 3-step.



North finds that they have 8 cards together in diamonds. The contract is played

3\D by North.



West plays out \CJ, the top of the sequence.}

[BCFlags "1f"]

[Auction "N"]

14 3 12 11



[Event "#"]

[Site ""]

[Date ""]

[Board "6"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "EW"]

[Deal "E:J632.AJ75.Q6.AK4 KQ5.T96.9432.987 A7.K843.AKJ.QJ53 T984.Q2.T875.T62"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East - West have a total of 33 honor points. The ladder says that it should be

announced on the 6-step.



East-West finds out that they have 8 cards in hearts together, and chooses

hearts as trump. The contract is 6\H played by West.



North plays out \S10, the top of the sequence.}

[BCFlags "1f"]

[Auction "E"]

15 5 18 2



[Event "#"]

[Site ""]

[Date ""]

[Board "7"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "All"]

[Deal "S:AK4.Q54.KJ7.AT75 J983.K862.T4.863 652.JT97.Q962.J4 QT7.A3.A853.KQ92"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South has marginally more honor points than East-West, 21 to 19. South

finds no trump suit on at least eight cards, and chooses to play grand.



The contract is played 1NT by East.



South, who has the best hand of anyone around the table, has a difficult play.

Invite from his longest suit, \C5, will work well.}

[BCFlags "1f"]

[Auction "S"]

17 4 4 15



[Event "#"]

[Site ""]

[Date ""]

[Board "8"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "None"]

[Deal "W:AQJ42.85.KJ8.762 T.JT7643.54.JT43 753.KQ2.93.AKQ98 K986.A9.AQT762.5"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East - West have 25 honor points together and must bid a contract on the 3rd

step.



East - West have eight cards together in both clubs and spades, and East

chooses one of the suits: 3\C or 3\S (to the teacher: Note that we have not

learned that major contracts give a higher point score. We will just come to

that in the next lesson.)}

[BCFlags "1f"]

[Auction "W"]

11 2 14 13



[Event "#"]

[Site ""]

[Date ""]

[Board "9"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "N"]

[Vulnerable "EW"]

[Deal "N:A876.T962.T.J932 2.43.AQJ754.AQT8 JT9543.KJ8.83.76 KQ.AQ75.K962.K54"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West has 30 honor points in total and will bid on the 5-step.



Since East-West has ten-card route matching, they choose the contract 5\D.}

[BCFlags "1f"]

[Auction "N"]

5 13 5 17



[Event "#"]

[Site ""]

[Date ""]

[Board "10"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "E"]

[Vulnerable "All"]

[Deal "E:T87432.4.72.JT98 AQ.AKJT852.QT9.7 KJ96.96.AK83.A62 5.Q73.J654.KQ543"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North - South have 24 honor points together and are going to bid a contract on

the 2nd step.



South would really like to have hearts as trump. Ask South how good his hand

looks like? Is the hand better or worse than a hand with 16 honor points and

the same number of cards in each suit?



The contract is 2\H from South.



Notice that South will win more tricks than the straight shows. Why?



This is a hint for what will come in the next lesson, where you are allowed to

bid higher than the straight says.}

[BCFlags "1f"]

[Auction "E"]

1 16 15 8



[Event "#"]

[Site ""]

[Date ""]

[Board "11"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "S"]

[Vulnerable "None"]

[Deal "S:85.43.AK9875.Q62 QT432.Q92.QJ4.J3 AKJ9.AKT5.T63.A8 76.J876.2.KT9754"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



North-South have 28 honor points together and will bid on the 4-step.



North-South have nine squares together.



The contract is 4\D played by North.



East chooses an invitation play in either hearts or clubs.

}

[BCFlags "1f"]

[Auction "S"]

9 8 19 4



[Event "#"]

[Site ""]

[Date ""]

[Board "12"]

[West ""]

[North ""]

[East ""]

[South ""]

[Dealer "W"]

[Vulnerable "NS"]

[Deal "W:AQJ42.AKJ62.4.42 97.854.JT86.AK96 T53.97.KQ532.QJ7 K86.QT3.A97.T853"]

[Scoring ""]

[Declarer ""]

[Contract ""]

[Result ""]

{



East-West have 23 honor points together and the stairs show that they should

bid on the 2nd step. West chooses spades as trump, and the contract is played

2\S by West.}

[BCFlags "1f"]

[Auction "W"]

15 8 8 9

2S

�

